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INDUCTION SHEET: USE ONE PER PROBLEM!

Define the Problem in terms of a statement P(n).
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Prove the statement P(1).
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Show that P(n) — P(n + 1).
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INDUCTION SHEET: USE ONE PER PROBLEM!

Define the Problem in terms of a statement P(n).
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Prove the statement P(1).
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INDUCTION SHEET: USE ONE PER PROBLEM!

Define the Problem in terms of a statement P(n).
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Prove the statement P(1).
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INDUCTION SHEET: USE ONE PER PROBLEM!
Define the Problem in terms of a statement P(n).
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Prove the statement P(1).
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Show that P(n) — P(n+1).
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